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The given bar graph represents the number of teachers in different

weight groups. Study the graph and answer the question that follows.
ﬁmwa’gmaﬁmmw{gﬁfw&aﬁaﬁmﬁm%lmmm
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1. In which of the following weight
groups is the number of teachers
the maximum?
frofafaa & ¥ fem 9w wgg o forersni &t d@en
wad arfues 72
CHSL 19-03-2020 (afternoon shift)
60-65
(b) 45-50
(c) 65-70
(d) 40-45
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Study the graph and answer the following questions.
UM T T & 3 FAfafaa ol & 39¢ <)

T32

of studen
p—
N

Number
H
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No. of hours playing —>
mobile games per day
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2. How many students spend S
hours or more than S hours playing
mobile games per day?
frem o1 wfafew tﬁ'ar{a T @+ ° 5 92
qr 5 °e W s aug =6 d 82
CHSL 16-10-2020 (Morning shift)
(a) 46
~(b) 14
. (c) 8
(d) 6

No. of hours playing —>
mobile games per day
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The given graph shows the weights of students in a school on a
particular day.

faar mar s fordt favie fa= e & ool @@= @ goTer 2
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3. The number of students
weighing less than 50 kg is what
percent less than the number of

students weighing 55 kg or more?
50 T ¥ &0 99 9T BEl & 9E&AT 55

frar o atfuss a9 O O i ¥ =T °

fera=m ufavra &0 22
SSC CGL Tier II-13 Sept\egb)}t 2019

SO\L SS"\ 2 44
\,Ler (b) 40
|l1 125 (c) S5

Ug (d) 30
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The given graph shows the marks obtained by students in an
examination.

faar T W U uditer W STl gRT Wi iRl @t uTer g

N
o

Number of Students
N W 8 N
o o -]

[
o

o

150 200 250 300 350 400 450
Marks



COMPLETE

Number of Students

a o
o O

&

60

150 200 250 300
Marks

ATHSEGLLS AT

300 250 &)
es - 35
2r A5
q . 5
=} x.uaes.o
_5—
40

35

350 400 450

OVt. exams BY ADITYA RANJAN SlR

4. The number of students who
obtained less than 300 marks is
what percent more than the
number of students who
obtained 350 or more marks?
300 § A 3 W A arel BTl i
HWE&T 350 Ar Ifuer e W &I 9
BEl @ G o faaar wfavra s 272
SSC CGL Tier II- 12 September 2019
&) 80%
(b) 28%
(c) 44.4%
(d) 22.7%




COMPLETE |\ V:¥ ¥ s Y COURSE (For all govt. exams BY ADITYA RANJAN SIR

Study the graph and answer the question that follows.
UTE T AT & 31T el f9U T wom =1 397 <)
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S. What is the ratio of the total
number of workers whose daily
wages are less than Rs 500 to
the total number of workers
whose daily wages are Rs. 600
and above?

500 U H & IfTh wegdt arer it
& Hel W&AT & 39 SfHehl sl et Q&
¥ U @ ¢ foet 3w aeEdt wud
600 3T HuT 77

SSC CGL Tier II-11 September 2019
ayS:6
(b)6:7

(c) 3:4
(d) 15 : 11
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Study the given graph and answer the question that follows.
fau 7o WM @ rsmER W 3R e fau U wvw @ 3w 2

DISTRIBUTION (AGE WISE) OF PATIENTS BEING

Number of patients
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6. The number of patients aged 10 or more years but below 40 years
is what percent less than the number of patients aged 50 or more

years but below 8
10 ot 3tferes ad wifer 40 99 | &9 o119 & WA i §@& 50 a1 afuesw ad oifes 80 ad #

&9 7g & TR @t we | e ufava &0 27

DISTRIBUTION (AGE WISE) OF PATIENTS BEING

povt. exams

ars ?

CGL 2019 Tier-II (15-11-2020))
(a) 30.2

TREATED IN A HOSPITAL IN A CITY

40
35
30
25
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15
10

S

(b) 25
27.5

@ (d) 34
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The given histogram shows the height of the student.

faar war feeiumy B @t Sare gvTEr 2
20

0 15

g 15 22 10 12

'gl.O 6

2 5

% 0

- mW © 1w © 1 O
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- Y a5 i
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= n n O b~ b~
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Height of the students in cm



COMPLETE (For all govt. exams BY ADITYA RANJAN SIR

p 20 " 7. The difference between the
g 15 13 .o 12 number of students whose height is
| S between _150- 155cm and the
;E (5) number of students whose height
.§ w 2 B o 1w 9 lies between 175-180cm is:

s — - -:c - - ﬁmﬁmmm150-155ﬁtﬁ
Z § > § G § B @ dg ¥ o Rt e 175-180 Wi &

el %, & S T 3T %:
CPO 23-11-2020 (Morning shift)
(a) 3
(b) 8

dey9

(d) 7

Height of the students in cm
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@ fg 15 14 8. What is the percentage of
§ e 13 50 112 students whose ht is in the
E o i} H class interval(160-170
S o (correct to the nearest integer)
5 w2 B 9 09 HAT T 160-170 H Hwmg arel faenfera
2 § 5 ; f':" § (a»'r wtayra feman g?fm -
Height of the students in cm CPO 23-11-2020 (Morning shift)
S (a) 39
1 g 7&/' =34 34

(d) 51
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20 o S - 9. The number of students whose

215122 13 14) e height is in the class interval 170-
210 10 . 175 is what percent less than the
g s number of students whose height is
e 0 in the interval 165-170?

s B 8 8 R B B8 (correct to the nearest integer)

E 2 o é D a @ ¢ hem At 170-175 ¥ FHemd Al STl @
- a9 8 8 =5 = @& 165-170 & a0 § g aret orar &t

Height of the students in cm @ o faa ufave 0 7

|}/.' " ( Frereaw gutiar & oo w@h)

- CPO 23-11-2020 (Morning shift)
UL P (a) 17.3%
| Vg, (b) 11.5%

\(e] 14.3%

(d) 19.5%
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Study the graph and answer the question that follows
T T AT ot 3T et fau 7o woq =1 397 2

10 9

Number of Weeks
L O ®

N

180 190 200 210 220 230 240
Cost of living index

150 160 170
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10. The number of weeks, in which the cost of living wasl160 or
more but less than 190, is approximately what percent more than
the number of weeks in which the cost of living index was 200 or

more but less than 220 (correct to one decimal places)
THI ot G, f9ad /3 & T 160 A atfyes of, AfeRT 190 9 W 4, 39 Ul ot

e | @ fean wfava arfies @ foud Sfraw geas &t @@ 200 ar aifies o
dfeh 220 ¥ &9 o4 (U I9THCE LA deh Tal)
CGL 2019 Tier-II (16-11-2020)

% 10 9 . ‘q — |2 lx%g/ ) (a) 44.4
o 8 Vg =S (b) 36.8
- 6 6 3 _3  \y58.3
@ "8 '
2 4 4 3 (d) 60.6
E

3
\[ vV
7’
—N ) SR —— - T A
150 160 170 180 190 200 210 220 230 240
Cost of living index
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The given histogram shows the frequency distribution of the speed of
cars passing though at a particular spot on a highway. Study the

graph and answer the question that follows:
faar T feam vt W T fagie o W e et wl @ fa & engfa faawor &

TITAT 1 WF T 3T &t 3’ Ffafaa wvv &0 3=957 2

100 90
90 85
§ 80 70
s 70 P
y 90 50
2 50 45
g 40
= 30
20
10
0 (-] = (-]
2 © & 8 & 8
g 8 8 2 8 S

Speed in km/hr



COMPLETE |\ V:¥ ¥ s Y COURSE (For all
100
90 85
% 80
§ o .
x 60 50
2 50 —1 45
g 40
= 30
20
10
0 ' | A " |
3 § € 5 3§ 8
g 8 8 g 8 S
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11. The number of cars with speed
between 70km/hr and 80km/hr is
what percentage more than the
number of the cars with speed
between 50km/h and 60km/h ?

(correct to one decimal place)
70 f&ﬁmaﬁrsofaﬁtma}ﬁawﬁaﬂ

&I & G&T 50 TRt /g2 3T 60 Tt/ 92T &

e Tfa aret & &t 9@t 9 feaer wfave
e 87 (U VWS T a9 Hal)

qp..,( P CPO 23-11-2020 (Evening shift)

:

(a) 22.2%

<2 Xy, (b) 15.5%

(c) 29.7%
\(4)28.6%
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Study the given histogram and answer the question that follows.
Frerifeara smaafes =1 srema &Y iR Sua e fau v wov =1 39 9

W & O O
©C O © O

Number of persons
N
o

-
o

o

2
1825

Distribution of persons (weight-wise)
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|40 38
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12. The number of persons weighing 55 kg or more but less than 75
kg is what percentage more than the number of persons weighting 80

kg or ore but less than 100 kg (correct to one decimal place?)
55 ferum ar atfiren SR 75 TaRaT | oA aaid arel saivedl @i d@er 80 faur ar sraws &fes 100

fommr ¥ =0 a9 O Safwal &t 9@ ¥ fea it eifass € (o Symea = 9 |E1?)

Distribution of persons (weight-wise) SSC CGL MAINS 29 JAN 2022
60 | (a) 66.7%
16¢)
= f-ag (b) 68.4%

7 40 (c) 88.2%
2 35 | 22 20 L Xing \{4) 77.8%
. 30 ¢ =g,
- 25 /.
2 18

20

10 5

j\/so 55 60 65 70 75 80 85 90 95 100 105
Weight (in kg)

o
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Study the graph and answer the question that follow:
frerifera W @1 s Y IR SES @e feu U wvw @ IWY S

Lifetime (in hours) of neon lamps

400 375 2so
350 340 325
300
300
5 250
= 200
150
100
100 —
50
0 e © O
8 §§ 8 8 8 8 88 8 8 8 38
N g 1N VYV M~ O OO0 © = 0N o
=

Lifetime (in hours)



COMPLETE

Y85 N} COURSE (For all

govt. exams

13. The total number of neon lamps having lifetime of 800 or more hours is
approximately what percentage more than the total number of neon lamps
having lifetime of 400 of more hours but less than 800 hours?
800 AT ferek WS & Sawehrel arel a9 #0 &l |/et W& 400 ¥e W ifus wife 800 w2 |

& & Saaadte arel AT ofu @t e 9e 9 @man fear wfave sifae 27

400
350
300

= 250
(o)

< 200
150

100
S0

0

340

Lifetime (in hours) of neon lamps

@73 350

Lifetime (in hours)

SSC CGL MAINS 03 FEB 2022
@ - (a) 22.7%
20¢ \_(b] 12.5%

(c) 32.2%

'&Xlo d) 31.8%
,\2'6 0: I?S/ ( ’ 0

3
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Direction (14-15): Study the graph and answer the
question that follow:

frerifera TR AT 3teTER W IR SHe @E fau U wyw @ sWw 9

35 37
30
L 28 | i |
| | e
14 ! _
8 I I

0-15 15-30 30-45 45-60 60-75 75-90
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ents
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d
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Number of stu
- e N
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14. In the given histogram, in which class interval, the median
marks lies?
fau o e fox o, wiitaen fog foem ot iaoe o frua 272

SSC CPO 13 March 2019 (Morning)
(a) 30-45

35
»30 | \§8+‘ @ \ b} 45-60
& (c) 60-75
-525 T (d) 15-30
':20 '
;15 |
'g 10
Z s l

0

0-15 15-30 30-45 45-60 60-75 75-90
Marks of students
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15. In the given histogram, what is the mean marks of the

students, correct to one deciaml palce?

fau 7 AT ® IR US SYHEE T d STl ol HET 3k 94T 87
SSC CPO 13 March 2019 (Morning)

< (a) 51.2
(b) 53.5
g (c) 52.7
2 50.6
: 20 -
gls L
=10
15-30 3045 45-60 60-75 75-90

Marks of students
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16. If the total marks obtained by students be represented as a pie
chart, then the central angle corresponding to marks 250 or more
but less than 300 is :(correct to the nearest degree)

u&mmmmmaﬁmaﬁw@aﬁ%wﬁmm% ar 250

a1 37feres wifeRs 300 | W T hald HIUT JTd il
SSC CPO 24/11/2020 (Evening)

NS 36q (2] 88°

;é 60 = n (b) 128°
g l. (c) 188°
- &69\_)(,6% Ya (d’ one
e < 2

2 <45 T

: :
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17. If the total marks obtained by students be represented as a pie
chart, then the central angle of the sector representing mark 200 or
more but less that 300, is :(correct to one decimal place)

Ifg BT GIT U el 3ieh ol UTS o128 & ®U | S9NEr @rar €, af 200 4r 3ifas
3T 300 | A 3Tkl T WUlAATEE i aATA AT & hald &0 &: (T 9

= & faw wE@r)

3
ST SSC CPO 25/11/2020 (Evening)

f 45 ., O
E 1215 o o
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18. The number of students who obtained less than 350 marks is
what percent more than the number of students who obtained 400 or
more marks? (correct to one decimal place)

350 W &T 3% UT i aTl BTAT sl TE&AT 400 AT 3faah i Wre &id arel
Bl Sl W& i G ¥ wiavra 31faes 81 (U@ 98 T 9@ )
70 60 SSC CPO 24/11/2020 (Evening)

(a) 100%
4 %QS/ (b) 375.8%
) 35 ¢ ¢y 385.7%

(d) 350%

%IOO.
1 %8s,




3506003399
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MISSING DI
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Directions (01-05):- Study the following table chart carefully and
answer the questions given beside.

fager (01-05) : TrefafEa ARult &1 WEuFgds 715999 & K e fau o uoei
& 39T 2

Total |o, of Valid Respective Ratio of
Year | Number YVotes Valid votes of male
of Votes and valid votes of
female
2011 - — 9:3
2012 500 —_ 5:4
2013 1000 - 38% —
2014 — 60% T
2015 2500 40% —




1. In 2011, the respective ratio of total number of votes to valid
T-v=50 votes was S : 4. Number of valid votes of female in 2011 constitutes
\.V= Y0 what percent of the total number of votes in the same year?

2011 W, /ST Wl &l G&AT T 99 Wl i W& ¥ UM 5: 4 41l 2011 H AfgewaA

5
c:%&/x%@ & 4 WAl F wEw I af wme WAl W W@ w Rhe whv 87

(a) 35%
o eu N:::t?: _| % of valid B op—— (b) 25%
'Isie’/)g‘gﬁ"/. =30y of Votes votes and v:li::l :lztes of \:j‘%gé:
2011 — — S5:3
2012 500 — S:4
2013, 1000 38% —
2014 — 60% 7319
2015, 2500 40% —_




2. In 2014, if the difference between number of valid votes of male

and number of valid votes of female was 150, what was the total
number of votes in 20147?

2014 °, gfg UEEl & 99 Wal i G W ufgewedi & 99 Wl @ WA & 3
150 9T, @ 2014 U et Wl i G&AT AT 4i?

. (a) 1845
Total | o, of valid | Respective Ratio of 1
Year | Number| vyotes | Valid votes of male \’w’/l:gg
of Voten and valid votes of (;) 1600
female I (d)
2011 — — 5:3 20 X,
. 7.
2012| 500 — 5:4 al
2013| 1000 38% — A1 | Qy .
2014 — 60%—+ Wo 7:5 \‘a““'lkrlgoy
2015, 2500 40% —_—




3. If the average number of valid votes in 2012 and 2015 wa

what was the number of votes given b e in 20127? |
% gr fau

gfg 2012 ST 2015 H a9 9dl &t AT8d Q& 635 9, ar 2012
T Al st @ feat 9i?
(a) 270
Total |o, of valid | Re€spective Ratio of (b) 135
Year | Number Votes Valid votes of male \j,c']/IZO
of Votes and valid votes of
female (d) 150
2011 _— — 5:3 ANi+V
3D X012 20‘3 - &
2012 /5;(» Q10 Q%X\{ 5 :@ . 5 39
2013| 1000 38% = %\_ e
N — . AL :)Nlooo
2015 2500 - 40% s




4. The total number of votes increased by 50% from 2012 to 2016. If

16% of the votes were valid in 2016, what was the number of valid
votes in 20167

2012 ¥ 2016 T HeT Udl i G&AT 50% &G IfE 2016 W 16% Wa a9 &, aF 2016 W
%agua“faﬁmwaﬁ?

1S
Valid Votes — ISPXHE Total |o, of valid | ReSPective Ratio of () S
)_20} Year | Number ’ v?Ioteez Valid votes of male " ?gg
. of Votes and v?:i; :lc;tes of (d) 140
@ 2011 — — S:3
2012| 500 — 5S:4
2013| 1000 38% —
2014 — 60% 7:5
2015/ 2500 40% =
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d Vote - S. In 2013, if the number of valid votes of female was 100, what was
\lali ol Vot€= the respective ratio of number of valid votes of male and number of
femau = 100 valid votes of female in the same year?
2013 ¥, afg afgemed & g wal @ G@AT 100 9f, 9 TN & AU WAl @ WA 30N
Mol - &80 IH a6 wfgensti & 99 WAl @ AT H A FAT 912
Total Respective Ratio of JEyCA S a2
. o % of Valid b)13:11
M: [ Year | Number| vyotes | Valid votes of male \J(ﬁ}l 4:5
%ﬁ ,"K% of Votes and valid votes of :
female (d) 13:5
2011 — — 5:3
2012 500 — 5:4
2013| 1000 38% - -
2014 — 60% 7:5
2015| 2500 40% —
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Directions (06-10) :- This following table is related to profit and loss
and some values are missing. All the discounts are on the M.P. and

the profit are on C.P.
fe9r (06-10 ):- Trefafaa arfeen o1y 3T 711 ¥ waftm € 3 3 W faqw €

Tt g2 3ifehd gea 3T oW %a goa W 2

'g} Cost| Profit |Marked| Discount|Selling
% Price (%) Price (%) Price
% | (Rs.) (Rs.) (Rs.)

Jeans 2280 — 2720 — —

Shirt — 30% — — —

T-shirt — — 2875 14% -
Suit | 2200 — — — |2640
Saree — 20% 3800 —_— w—




6. The ratio of discount % and profit % of the T-shirt is 7 : 5. Find
CP. of T-shirt? (approximately)
-9 W ge ufavra A oW wfave &1 U 7: 5 1 E-UIE T %d Ued A

A15 43 P
SP-281s XB67 (8) Rs, 2285
- —607” | Cost | Profit |Marked| Discount|Selling (b) Rs. 2398
A2 %"6 Price| (%) | Price (%) Price (c) Rs. 2552
_ 2 | (Rs.) (Rs.) (Rs.) \_(9)Rs. 2248
Uay s Y3
ol Jeans | 2280 — 2720 — —
CP =St 22943 Shirt| — | 30% | — r -
1 i R I_D_/ ( Q ) —
7 |T-shirt 287 4%
/Kf /. }‘}3 suit | 2200 —| = — |2640

Saree — 20% 3800 — —




6. The ratio of discount % and profit % of the T-shirt is 7 : 5. Find
CP. of T-shirt? (approximately)

2-9¢ W g ufave 3R oW wfaye @1 MU 7: 5 ¥ -9 @ %hd Uod A
|
mP = 100xP/L

_mP (a) Rs. 2285
P 100-D/. Coct (b) Rs. 2398
iy % | fon o ebicoadestind (), 2582
ce a ‘%% % | (Rs.) (Rs.) (Rs.) \LdrR/s. 2248

. Jeans 2280 | — | 2720 — -

%) CP= BISX 8¢ Shirt | — | 30% | — o -

110 Tshirtft — | Q7. 14% | —

Suit | 2200| — - — 2640

Saree — | 20% | 3800 — —_
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'g} Cost| Profit |Marked| Discount|Selling
% Price (%) Price (%) Price
% | (Rs.) (Rs.) (Rs.)
Jeans | 2280 — — =
Shirt | — 30% — — —
T-shirt — — 2875 14% —_
Suit —] - — 12640
Saree — | 20% | 3800 w— e

BY ADITYA RANJAN SIR

7. C.P. of Suit is how much percentage less than the M.P. of Jeans?
g &1 % Ued Wi @& 3ifea gea | feraw ufava &0 27

(a) 21.2%

\ngolo/o

(c) 18.6%
(d) 18.4%

e

J&?
,68"%/' - %\ZS_
1 \5

= )?.(-/
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8. If the M.P. of jeans is Rs. 140 more than the C.P. of Shirt and
the difference between M.P. and S.P. of Shirt is Rs.(780. Find the

discount % of Shirt?
gfe g &1 3ifha 9o 92 & g Uo9 | 140 U Nfua T 30N 2 & 3ifed g

aar fasha g &1 3fav 780 &9 & af V12 UT B Wiavra Ara ahifag?

(a) 20.46%

Cost| Profit | Marked| Discount/Se b) 19.76%
z’«;; Price| (%) | Price | (%) Price. \:p)ﬁs.sa%
s | (Rs.) (Rs.) .} (d) 17.56%
- Jeans 2280 | — | 2720 — —| Y7=D ¥y,
= 8 [shirt | RS80| 30% 1Y — 'S'BS.LQ M

Tshirt — | — | 2875 | 14% | —| ~18okpy, (g

Suit | 2200 — — — |2640 Ui3y K
Saree — | 20% | 3800 —_ —




180 X1V

U134




9. If the discount % and profit % of the Suit is same. Find out the
M.P. of Suit?

Py =_P_X100v.

CP ..
20/
= _Uue xl1edv.
27200

‘g Cost| Profit Marked|Discount|Selling
% Price (%) Price (%) Price
% | (Rs.) (Rs.) (Rs.)
Jeans | 2280 — 2720 — o—
Sh.irt S— 30°/o — — -
T-shirt — — 2875 14% —
Suit | 2200| O/ Q0/. |2640
Saree — | 20% 3800 — —

afe ge w gz wfavE 3iT oy ufava |ue & & 9e & ifea ged A1 it ?

(a) Rs. 2200
(b) Rs. 2500
(c) Rs. 2800

\(/cn’ns. 3300
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If the ratio of the C.P. of the Jeans and Saree is 4 : 5, find out
the discount % of Saree? —

gfg S 2T WISt & Hagedl &1 U 4: 5 B a1 WISt UT g Uiava Ja sited?

Cost

'{\& Profit | Marked| Discount|Selling
% | Price, (%) | Price (%) | Price
s | (Rs.) (Rs.) (Rs.)
Jeans 2280 —_ 2720 —_ —_
Shirt | — 30% — — —
T-shirt — — 2875 14% —
Suit | 2200 — — — 2640
Saree | 93Sy| 20% | 3800 — —

(ay10%
(b) 12%
(c) 15%
(d) 20%

= 100+P|
OPIL
® 1o 00~D

&L
5
0

mv
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Direction (11) : The following pie-chart and table show the
percentage distribution of farmers in S states A, B, C, D & E of a
country who claimed insurance due to drought in the year 2017
and ratio of males to females of the number of farmers in states,

respectively.
frfafaas ug-=d ts 2o & 5 == A, B, C, D 3w E ¥ fam & wfave faaror ==t
goret €, fa%ﬁaézonﬁq@a}maﬁmwammmaﬁrmwfi

fomart &t 9@ o 9T "igenat s W& # u fawm 2
Study the piegg'ﬂart and the table carefullyg and answer the

following question.

UrE-ure 3T Aot &t saTgdes 3Teaa & oI Fefefea woat & s=w €

Note: Some date are missing in the pie-chart and table, if required
in any question, find the missing data first and then answer the

question.
qe: urE-wne 3N afeenr o &p fafaar maw (missing) ), afz felt wow ® smavas w7, @
gge MaE (missing) 22T @S 3 R wvR & 39 2
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Ratio of male of female in the farmers
who claimed insurance in 2017

05:03
04 : 01
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COMPLETE

11. The number of farmers who
claimed insurance in state C exceeds
— 31680 the total number of farmers (who
chimed insurance) in state E and
state A together by 5280. What is
the percentage of farmers who
=@Q+e claimed. insurance in state E? .
;TS8O g ¢ F dm o A W A e @
Iy, /1B, WEm T E 3 T A ¥ Fe fuewet fear
"'X/-+5280 & G (ST W IEr & aret) | 5280

A6U0pTXI12
|

|80=~9w0°x At 3 9 E ¥ @iWr & qrar A 9
M~ %‘Oﬂ‘%ﬁmﬁmvﬁmw#

~ 9u, | .
' B SSC CPO 2019
P (a) 15% (b) 25%

(c)10% (d) 40%
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11. The number of farmers who
claimed insurance in state C exceeds
the total number of farmers (who
chimed insurance) in state E and
state A together by 5280. What is
the percentage of farmers who
claimed insurance in state E?

T C ® &™r &1 IErT A ard far &t

o H&m T E X T A ¥ &w faenet feam

W WEN (SHT @ IraT wIA aret) | 5280
atferes 81 T/ E W StHT T SrET A 9T
faramt w1 wiaora == 272

SSC CPO 2019

(a) 15% (b) 25%
(c)10% (d) 40%
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Direction (12-15): The following pie chart represents the percentage-

wise distribution of 300 students of class X in a school in six
different sections A, B, C, D, E and F.

fear ar urg-=ne fodt faamea & 8T X & 8% iem-3em am A, B, C, D, E

AT F & 300 BTAT T Ulavra-a1 s+ fefaa &ear 2

12%

14%

17%

20%

18%
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The given table shows the number of boys of class X in six different

sections A, B, C, D, E and F.
&t 72 arferent e X & B -t ant A, B, C, D, E 3t F ¥ &gt st W& Iyl

Tl
Section B
No. of boys 26
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= 300X
Totad %56
BDYS: 90’ 6
Giwls: 9% 53
‘ 20 /.
r
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12. The total number of boys in sections A, B and D together is

what percentage more than the total number of girls in sections
A, B and D together?

i A, B 3T D ® Taeret @igehi &l &t W@&AT, 9 A, B 3R D ¥ fuemae

wisferal o &l we A fawa wfavm arfaes 272

Section

A

No. of boys

C

34

SSC CHSL 06/08/2021 (Shift- 3)
D F (ay 20%
(28) .... | 20 (b) 30%

(c) 18%
(d) 15%
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13. If the total number of students in section C is 57, then the
total number of girls in section C and D together will be:

gfg WFT C ¥ /A BT & §@&AT 57 §, A UM C 3T D ¥ wgfawai &t H_A

No. of boys |
s

(a)
(b)

SSC CHSL 11/08/2021 (Shift- 3)

48
36

(c) 40

(d

46
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14. The difference between the central angles of the sectors
corresponding to the sections A and F is:

AT A 31X F & 36V Fa@s & Sgig &I & &ia & 3ia¥ J1d i ?
SSC CHSL 13/04/2021 (Shift- 3)

(a) 28.4°
Section |A D|E |F (b) 26.8°
No. of boys 20 (c) ,38.8°
(d) 28.8°
3686 xg
log




15. If in section E, the ratio of boys and girls is 4 : 3, then the

ratio of the number of girls in section B to that of the number of
girls in section E is:

afq & E ®,  dga& I wefwat @ 3T
4 :3%,d T B U w@gfardl &l G&AT &1, 97 E ® @sfehal st 9@ ¥ U™
AT |

Sy SSC CHSL 13/04/2021 (Shift- 1)
Section A F | (a) 15:8
No. of boys | 36 20| (b) 13:8
G‘"“S (C’ 13:9
(& 14 :9
%L |18




